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Part 1
Shoi*t Questions [35 points];

1

b)

c)

d)

e)

Consider a typical resident in Hsinchu Paul, who wo d divide his income m
between bus rides and other goods. Suppose the price of other goods is

normalized $1 and e price of bus ride is p.

Draw the initial budget line of Paul in a graph with the number of bus rides on
e horizontal axis and other goods on e vertical axis. Indicate the vertical and
hoirizontal intercepts and label his optimal consumption bundle as " using an

indifference curve that is convex the origin. [6 points]

Suppose the Hsinchu city government subsidizes the price of each ride and lower
the price of bus ride from/? Show in your graph the new budget line

cing Paul as well as e new vertical and horizontal intercepts. [5 points]

Suppose that a bus ride is a regular inferior good (i.e. NOT a GiflFen good) to Paul.
lllustrate e substitution and income effects ofthe subsidy. Locate aposs le
new optimal bundle * ” on Paul’s new budget constraint. What will happen

the number of bus trips that Paul consumes as a result of this subsidy? Explain.

[6 points] ,

In your graph indicate the total amount government spends on e subsidy

(in  rms of other goods) and label it as & [7 points]

Suppose the government now changes the subsidy to a cash subsidy that would
provide the minimiim lump sum subsidy that would make Paul equally well off as
he is under the current price subsidy. Label this cash subsidy as Z in your graph.

points]

Which form of subsidy would cost the government more, the price subsidy sthe

lump sum subsidy, or would ey cost the same? [4 points]
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Multiple Choice Questions [15 points]:

For each multiple choice question, choose the one best answer.

1. Eric consumes goods Xandy. His utility functio is i/(x,y) = xy3.His income i
$20. The price ofXis $1 and e price o fis $3. Find his demand for

A) 10

5
C) 7.5
D) 3

1

2. Chris has a utility function U Ci,Xz) = 28 + X. where is his consumption
of potato chips and X2 is his consumption of soda. His income is $128, the price of
potato chips is $2, and the price of soda is $1. How many cans ofsoda will Chris

demand?

A) 30
B) 60
C) 55
D) 49

3. Ben[s ility ftinctio is U(x,y) = min {x, 2y}. Ifthe price of Xis $5 and e price
of is $10 and if Ben chooses to consume 4 units of what must his income be?

A) $80
$

C) $320

D) $440
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Part 2

1. [10 points]

(a) Please draw a U-shape average tal cost curve and draw a corresponding
marginal cost curve on the same picture.

(b) On the picture you draw in (a) illus ate how the marginal cost curve and
average total cost curve shift if the marginal cost increase by a constant for every
guantity.

(c) 0 adifferent picture[draw a w-w. - wn U-shape average tal cost
curve and draw a corresponding marginal cost curve on the same picture.

2. 0 points] The private marginal cost of a firm is the additional co it
pays produce one more unit of its product. Suppose at e firmpoll es e
river beside as it produces. To clean up the river, the additional cost the city
has to pay when the firm produces one more unit is called external marginal cost.

(@) U apicture wi demand and supply curves of e product e rm
produces to illustrate the dead-weight loss caused by the externality.

(b) Ignore the pollution in part (a). Use a picture of demand and supply to
explain the dead-weight loss the firm causes if the firm is a monopoly.

(c) If e6miisamonopoly and itpollutes e river. Is itposs le that the
two dead-weight losses you explained in part (a) and (b) cancel each other so the
Ksult is efficient?

3. 0 points] Consider two firms engaged in price competition (Cournot
competition).

(a) Ulustrate the equilibrium with a picture. Is 6 equilibrium efficient?

(b) What will happen  your answer of (a) if the marginal cost of one firm
increases.

(c) What will happen  your answer of (a) ifone of e firms faces capacity
constraint and it cannot produce e equiUbrium quantity you find in part (a)?

—end—



